Vougler:
Q mix = {00010 ad mimic 100011000 1100
St 5 el ?

Todeo Seks

————

Bom 20°BCE B ~ ~ [700's C&

Mm'\wlT TQ'(V‘“Q S— «letg‘zjﬁots S m\‘f*\ﬂ
E«e\( Xs E\Qu-v\’gs L 6!0%‘\7
=P £ vew aess |F00's $)€o0's

]
C\w '“ﬁ\ \M“"("l vﬁ&d Nw )ﬂ n)qu

(?’cwa (anhe's ey Qsds \&7O's

|ubrel by <}t au wnardnd calleson S:
\n )e,éﬁ (Cﬂ\\t Q\wa'}) of MMLJ‘S\

%_J&-\‘-ﬁ? i\ﬂﬂ’;S \&L%\ N t(lw&s o
LY D

C ;sL?.,G,BS
H -’—%_\12131"" i ’WS Q\\\?scs to vt




\k" 1A\R\""”“‘,A\«s &, . -,,\070,..,3:3

Vsl udedor’
ek L\ nakehon"

X = 313&\ \ ;k=‘-9z‘/""”*w‘jzS

eal.A\n\-J X = 3‘\,5,5,7’,,,7101&

" q()g NMO\Q VWMLU‘ W
14, 20\ £ &

S:a\l /'OOS we uN\W‘(. K&S

"7/ mesm X S '-‘m
%%X A \ E;Z}\ vt & S

i%ﬁ ’1 \ X s awm e\luewx 9{ SE

Xcin\ Wis &




Dniea:  \& X34 wcsds
. XvY e el whase et Pane i~ X
>w_b(&(,v g —\\mu in Y.

xoY = 4 | xeX oo xe
exe X223} ¢ - §2,4,6,%,10)
XY = i\;z,%,-\',(.,g,n%
XOX = quzdy=X
%04 = TxlxeX od 3§

X0 = 424 ¢=H.¢ ew\?‘-?vc&-
Su\?‘a\s (p; 13

We- S<y A ‘osa-s-sow{-g B wd e AL
\‘Q ey Q,\Qw«,&y (A= a\sa am d@m\{ LR

s e fvedd ¢ c 223

ex
yes (,

.‘Q A €], e W\\\Q B\A (CQN-%Q\M\\ -.c A i %>

’\'vv\-b&m .e\lwvAi A % mo)r M A
o $1233\4,23 7 15



Tm»e ‘\ws-l-o‘s b chvvsca w ‘('(&Vld‘Hzn
$1,2,33 3
‘21,1;373'8 5

L 9,2%,3 ¢ lomas + 1,203
2 \’2 S )x\'\“\f)f i\/ls

1,88, DUB S > deds
' Haw M«v? Q\U"‘”‘R(g o
1 - $¢3 3 . 59,236 1545
L ° ii¢xz¢3

N = %0,1,2.,7),... 3 Pris (S am J"\Qm.lksA.

CQWS“" e ‘/Q“"{\“Z (Q‘tM\-’S\Z\ Cvnl‘ldyal Q-f \ﬁfb-f-c_
c@vw@\ 73 \“v&vwlt s,c\s

(D&\'lﬁ\t g\ e WS .Q( Cﬁ‘cvlus (NN\M “\ (‘.Q'\LV:'DS

9‘1«7; N@ue‘w W \&ccwsc L»e\\mr) 3@#\{‘ ""\‘tl“ Sowe.
LQ:\\'M‘) vqa V\d\‘ﬁ’a -k /rl“Ql\f'-‘(s,v\.\‘)q

4



vabl 1260's  Alrmhem Rohrsen ne\yd Mimbeamals
(00\& Y N«&l ?vvec.;«.

—

Le-[. X; é_n (v\q M')\N\‘ MUMLV‘ W\’\fc\A cew luﬂ(,s“u
hZ a Qew\'mcc wth less flen Joo wnrisg

12\ M= 9m=.\\a\‘ mm\-cr ik camt La&ovluﬂ Ly
a V«%&"“L‘C M"‘Y\'\ \eg, -‘-(49,.4 (0o .A(wﬂ,s‘



